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Operators

* Operator in java is a symbol that is used to perform
operations.

* For example: +, -, *, / etc.
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Arithmetic Operators
¢ 1

(o 4

Addition

a+b

o~

&

Subtraction

a -b

=




Example:

i~ 3 - -
int a=4; int a=a;
int b=2; int b=2;
int c=a + b; int c=a - b;
System.out.printin(c); System.out.printin(c);

& =4 & =

Output: 11 Output: 7
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Multiplication Division
a*b a/b




Example:

i~ 3 - -
int a=4; int a=49;
int b=2; int b=2;
int c=a * b,' int c=a / b)-
System.out.printin(c); System.out.printin(c);

e o & e

Output: 18 Output: 4




a++




Example:
i 1 ¢ 1
l.'\t a=q; ‘.’\-t a=‘?3
int b=2; ine b=z
int ¢c=a % b; System.out.printin(++a);
, System.out.printin(b++);
System.out.printin(c);
o it ¢ o)

Output: 1 Output: 10




int a=9;
int b=2;

System.out.printin(--a);
System.out.printin(b--);

Output: 8
-




Relational Operators

i i ¢ 1
B N I 1
B N 1]
[]
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Checks if the values of Checks if the values of
two operands are equal two operands are equal or
or not not




Example:
S 1 ¢ =
int a = 2; int a = 2;
) int b = 4;
int b = 4;

pri I=b);
System.out.println(a==b); System.out.printin(a!=b)

Output: false Output: true
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&L@kecks if the value of left

operand is greater than
the value of right operand

a>b

>

o 4
Checks if the value of left

operand. is less than the
value of right operand
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Example:

S 1 ¢ &
inta-=2; int a = 2;
nt b 4 int b = 4;
in = 45 : .
SHStem-Out.println(a>b); SySteM.Out.Prlhtln(a<b),

Output: false Output: true
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Checks if the value of left
operand is greater than
or equal to the value of
right operand

" il

A
Checks if the value of left

operand is [ess than or
equal to the value of right
operand




Example:

i 0 ¢ o
int a = 2; int a = 2;
int b = 4; int b = 4;
System.out.printin(a>=b); System.out.printin(a<=b);

oo . & A

Output: false Output: true




Bitwise Operators
™ i ¢ T

&

b » b p
Binary AND Operator Binary OR Operator
copies a bit to the result copies a bit if it exists in
if it exists in both either operand.

operands.




Example:
e R E
int a = 9; :
e 31001 | Int @ = 4;
int b = 2; 220010 | int b = 2;
intc =a & b; _ffgobff- inte = a | b;
SgSteW\ Out PWI’\'HV\(C)' Lt e Sgstem out Prlntly\(C)'

(o = & =

Output: O Output: 11
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Binary XOR Operator Binary Ones Complement
copies the bit if it is set Operator is unary and
in one operand but not has the effect of 'thpmg

both. bits.




Example:

int a = 9; 41001 | int a = 9;

. — . 2=0010

int b = 3; 3=0011 || int b = 2;

) _ . . A=1010

int ¢ = a " b; ~211111 | jnt ¢ = ~ a;
System.out.printin(c); o110 ) System.out.printin(c);

o B O

Output: 10 Output: -10
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Binary Left Shift Operator. The Binary Right Shift Operator. The
left operands value is moved left operands value is moved
left by the number of bits right by the number of bits

specified by the right operand. specified by the right operan




Example:

o~

int a = 9;
intb=2;

int ¢ = a << b;

b

System.out.printin(c);

Output: 36

lint a
| int b

Tintc =a >»> b;

9;
57 e

System.out.printin(c);

Output: 2




Shift right zero fill operator. The
~c“’?lel’t operands value is moved

Output: 2

right by the number of bits
specified by the right o;?emnd
and shifted values are filled up
with zeros.
a>»>b

int a = 4; Z:i%%i

int b = 2; 0

int ¢ = a >> b;

System.out.printin(c);



Logical Operators
¢ M ™ M

& & |

f?" , o & 4
Called Logical AND operator. If Called Logical OR Operator. If any

both the operands are non-zero, of the two operands are non-zero,
then the condition becomes true. then the condition becomes true.
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Example:

S 1 9y 1
int a = 4; nt a=4;

int b = 2; int b = 2;

iF (2 == 4 && b == 2) { fifa==it || be==iay {
System.out.printin("Correct"); ystem.out.printin("Correct");
S b L .

Output: Correct Output: Correct




¥ Cane SR

Called Logical NOT Operator.
Use to reverses the (ogical state
of its operand. If a condition is
true then Logical NOT operator
will make false.

al=b

int a = 4;
int b = 2;
if (a !=b) {

System.out.printin("Not Match");

’\§ ¥

Output: Not Match




Assignment Operators
™~ 1 o “‘1

T
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Assign Value a+=b

&

=9 a=a+b




Example:
™ i e~ 1
int a=9; int a=9;
System.out.printin(a); int b=2;
a += b;
System.out.printin(a);
L= b & 4

Output: 9 Output: 11







Ean\ple:

Wr\t a=9; ! S“‘,-,\t a=9; =
int b=2; int b=2;
a -= b; a *= b;
System:\.out.println(a); System.out.prmtln(a);

&L . ’ §

Output: 7 Output: 18




a/=b a%:b
a=a/b a=a%b




Example:

S“‘ 1 ¢~ “’1
b =G int a=9;
. int b=2;
int b-2-) a %= b)-
a /= b; System.out.printin(a);
System.out.printin(a);

) 2 L A

Output: 4 Output: 1
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Left shift AND Right shift AND
assignment operator. assignment operator.

a cé= 2 a W= 2




Example:
- R R
M int a = 9;
o a>= 2;
a <<= 2; System.out.printin(a);
System.out.printin(a);
T > & A

Output: 36 Output: 2
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Bitwise AND assignment bitwise exclusive OR and
operator. assignment operator.

a &= 2 a =2




Example:
- R R
int a = 9; kgt
. a = 2;
a &= 2; System.out.printin(a);
System.out.printin(a);
T A &e A

Output: O Output: 11




o bitwise inclusive OR and
ql} assignment operator.

a|=2

int a = 9;
a |= 2;
System.out.printin(a);

L\ J Output: 11




